[image: image1.png]Factories 4, B, C, D, and E can each produce up to 1,000 microwaves. The cost that each factory incurs to
produce its microwaves is illustrated by the step-function supply curve in the graph. Consider a fall in the
markst price of a microwave from $80 (Price 1) to $40 (Price 2).

PRICE (Dolars per microwavel

10

Supply

0

a0

n

a

© vice 2
2 °
«
ot
0 T2 a4 s s
QUANTITY (Thousands of microwaves]
3.1. __factories will produce at $40 per microwave, and __ factories will produce at $80 per microwave.

Bssume that each factory produces sither 1,000 or 0 microwaves
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